The Parent Sin6 function: Find the period, amplitude, and equation of the midline for this portion of a Sinx graph.

f

(57.7) Eqofmi

OAMPII"""A‘Q
E .. 2. Amplitude:
Period = T = BT MRS
Amplitude = 1 ) -
L e Period:
Midline: S2=0O . . o2 =
Max= 1?3,(@:/7’71 x-intat S = Q¢ Domain: S Oa’ f
Min=_~1 at®:3%, y-intwhen S = Range: Ell z
= = \{ i/ é { = :'I_'Z N
=Y 5
Graph of y=sinx Exploration
‘ y = sinx
1 y = 3 sinx 3 Times
Tallevr
on

\erticad SH7 e h
CacheoC 2>




y = sinx
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y = asinx
(af= Amplitude (Vertical Stretch Factor)

Can you have a negative Amplitude?
No, since amplitude is a distance, it can't be negative.

If a<0 then there is an x-axis reflection.
Upside down
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y = sinbx

Period = 20

The Parent Function:
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y = Sinx
Period= 21

Amplitude= 1

Eq of Midline: y =0

Find the amplitude and period for each Sine Function:

1. y=T7sm5x 2. v=—4sm % — - l{ Sm(_fsx)
Amplitude=") Amplitude= &/
Period= 27T Period= 2T

3 T = 4T
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y = asinbx

| al= Amplitude

a<0 is an x-axis reflection (upside down)

b: —— Period = 2b—n



Sketch one period of the graph of 2T
y=3sindx fe‘“‘é e

Amp“tUde =3 this represents the distance from the
Midline: y=0 beginning point to the end of one cyle.

Label the coordinates of all x-intercepts, minimums, and maximums.

e
z ,3)




